

THE WHITNEY JOIN AND ITS DUAL

YASUTOSHI NOMURA

(Received January 21, 1970)

The notion of the Whitney join is a generalization of the Whitney sum of vector bundles and has been treated by various authors [1], [8], [18].

In this paper we show that the Whitney join can be used to remove in Serre's theorem on relative fibrations the usual assumption that the fibration should be orientable (cf. [15], p. 476). This, applied to arbitrary group extensions, permits us to extend by one term the homology exact sequence which has been deduced by many authors [4], [6], [11], [16], [17]. The resulting exact sequences (see Theorems 3.1 and 3.3) reduce to those of T. Ganea [7] in the case of a central extension. In section 4 we examine a relationship between maps with left homotopy inverse and monomorphisms in homotopy theory (see Theorem 4.1) and, in section 5 we give a generalization of an exact sequence due to E. Thomas [19]. Duality suggests that there may be an exact sequence involving a principal cofibration, and we establish it in the final section (see Theorem 6.3).

Throughout we will work in the category of spaces with base point (denoted by $*$) which have the homotopy type of a CW complex. Given a map $f: X \rightarrow Y$, we denote by C_f and E_f the cofibre $Y \bigvee_f CX$ (with $(x, 1)$ and $f(x)$ identified) and the fibre $\{(x, \beta) \in X \times Y^I \mid \beta(0) = *, \beta(1) = f(x)\}$ respectively, where CX is the reduced cone over X . As usual, S and Ω denote the suspension and loop functors respectively.

The author is grateful to the referee for several suggestions which have led to improvements in the presentation.

1. Whitney join

The Whitney join of two Hurewicz fibrations is, roughly speaking, defined to be a weak pushout of the pullback of them. Let $f: A \rightarrow Y$ and $g: B \rightarrow Y$ be fibrations with fibres F and G and let K denote the pullback of f and g ; thus, $K = \{(a, b) \in A \times B \mid f(a) = g(b)\}$ with projections $p_1: K \rightarrow A$ and $p_2: K \rightarrow B$. The Whitney join

$$f \oplus g: A \oplus B \rightarrow Y$$

of f and g is defined (cf. [8]) by setting

$A \oplus B$ = the unreduced mapping cylinder (cf. [12]) $A \bigcup_{p_1} K \times I \bigcup_{p_2} B$ of p_1 and p_2 with strong topology

$$(f \oplus g)(a, b, t) = f(a) = g(b).$$

Then $f \oplus g$ is a fibration with fibre $F * G$ (with strong topology). Since the passage to the reduced construction does not affect the homotopy type in our category, we shall replace $A \oplus B$ by the reduced one in the sequel.

Now consider the commutative diagram

$$\begin{array}{ccc} & A & \\ h \nearrow & & \searrow f \\ X & & Y \\ k \searrow & & \nearrow g \\ & B & \end{array}$$

and let $T \begin{pmatrix} h & f \\ k & g \end{pmatrix}$ denote the space obtained from $Y \cup CA \cup CB \cup CCX$ by the identification

$$(a, 1) \sim f(a), \quad (b, 1) \sim g(b), \quad (x, s, 1) \sim (h(x), s), \quad (x, 1, t) \sim (k(x), t).$$

Let us write $C_{h,k}$ for the double mapping cylinder $A \bigcup_h X \times I \bigcup_k B$ in the following. We shall define

$$\xi: C_{h,k} \rightarrow Y$$

by $\xi(x, t) = fh(x) = gk(x)$, $\xi(a) = f(a)$, $\xi(b) = g(b)$, $x \in X$, $0 \leq t \leq 1$, $a \in A$, $b \in B$. Note that $\xi = f \oplus g$ for $X = K$, $h = p_1$ and $k = p_2$.

Lemma 1.1. *The cofibre C_ξ of ξ is homeomorphic to $T \begin{pmatrix} h & f \\ k & g \end{pmatrix}$.*

Proof. The desired homeomorphism

$$\eta: C_\xi \rightarrow T \begin{pmatrix} h & f \\ k & g \end{pmatrix}$$

is obtained by setting

$$\eta(x, s, t) = \begin{cases} (x, t, 2st + 1 - 2s) & \text{for } 0 \leq 2s \leq 1 \\ (x, (2 - 2s)t + 2s - 1, t) & \text{for } 1 \leq 2s \leq 2. \end{cases}$$

$$\eta(a, t) = (a, t), \quad \eta(b, t) = (b, t), \quad \eta(y) = y.$$

Next consider the commutative diagram

$$\begin{array}{ccccc}
 X & \xrightarrow{h} & A & \longrightarrow & C_h \\
 \downarrow k & & \downarrow f & & \downarrow \chi_1 \\
 B & \xrightarrow{g} & Y & \longrightarrow & C_k \\
 \downarrow & & \downarrow & & \\
 C_h & \xrightarrow{\chi_2} & C_f & &
 \end{array}$$

in which χ_1 and χ_2 are induced maps between cofibres resulting from $fh=gk$. The following is a direct consequence of the definitions.

Lemma 1.2. (3×3 lemma) *The cofibres C_{χ_1} and C_{χ_2} of χ_1 and χ_2 are both homeomorphic to $T \begin{pmatrix} h & f \\ k & g \end{pmatrix}$.*

The above two lemmas give rise to the following result for the situation in the beginning of this section (cf. Lemma 6 of [14]).

Theorem 1.3. *Suppose that the fibrations $f: A \rightarrow Y$ and $g: B \rightarrow Y$ over a path-connected Y are m - and n -connected respectively, where $m \geq 0$, $n \geq 0$. Then $f \oplus g$, $\chi_1: C_{p_1} \rightarrow C_g$ and $\chi_2: C_{p_2} \rightarrow C_f$ are $(m+n+1)$ -connected.*

Given $f: A \rightarrow Y$ and $g: B \rightarrow Y$, let $E_{f,g}$ denote the mapping track $\{(a, \gamma, b) \in A \times Y^I \times B \mid f(a) = \gamma(0), g(b) = \gamma(1)\}$ with obvious projections $P_1: E_{f,g} \rightarrow A$ and $P_2: E_{f,g} \rightarrow B$. We see easily that the diagram

$$\begin{array}{ccc}
 E_{f,g} & \xrightarrow{P_1} & A \\
 P_2 \downarrow & & \downarrow f \\
 B & \xrightarrow{g} & Y
 \end{array}$$

is homotopically equivalent to the pullback

$$\begin{array}{ccc}
 E_{f,g} & \xrightarrow{p_1} & E_{f,1_Y} \\
 p_2 \downarrow & & \downarrow p \\
 E_{1_Y,g} & \xrightarrow{q} & Y
 \end{array}$$

of two Serre path fibrations p and q . Hence $\xi: C_{P_1, P_2} \rightarrow Y$ is homotopically equivalent to $p \oplus q$. Thus we have (cf. Theorem 3.10 of [12])

Corollary 1.4. *Let $f: A \rightarrow Y$ and $g: B \rightarrow Y$ be m - and n -connected maps, where $m \geq 1$, $n \geq 1$. Then the diagram*

$$\begin{array}{ccccc}
 & & [A, V] & & \\
 & \swarrow P_1^* & & \nwarrow f^* & \\
 [E_{f,g}, V] & & & & [Y, V] \\
 & \swarrow P_2^* & & \nwarrow g^* & \\
 & & [B, V] & &
 \end{array}$$

is exact for a connected space V with $\pi_i(V)=0$ for $i \geq m+n+1$.

Proof. Suppose given maps $a: A \rightarrow V$ and $b: B \rightarrow V$ such that $aP_1 \simeq bP_2$. Then we can construct an extension $c: C_{P_1, P_2} \rightarrow V$ of a and b . In order to show the existence of a map $y: Y \rightarrow V$ satisfying the conditions $a \simeq yf$ and $b \simeq yg$, it suffices to verify that c can be extended to the mapping cylinder of $\xi: C_{P_1, P_2} \rightarrow Y$. The obstruction for such an extension lies in $H^{i+1}(C_\xi; \pi_i(V))=0$ for $i \geq 1$.

Corollary 1.5. *Let $p: E \rightarrow B$ be a fibration with fibre F and assume that B and F are m - and $(n-1)$ -connected, where $m \geq 0, n \geq 0$. Then the maps*

$$\rho: E \cup CF \rightarrow B \quad \text{and} \quad \sigma: SF \rightarrow C_p,$$

defined by $\rho(e)=e$, $\rho(x, t)=$, $\sigma(x, t)=(x, t)$ for $e \in E$, $x \in F$, $0 \leq t \leq 1$, are $(m+n+1)$ -connected.*

Proof. By definition, E_p is the pullback of $p: E \rightarrow B$ and the Serre path fibration $q: E_{*, 1_B} \rightarrow B$. So we have the commutative diagram:

$$\begin{array}{ccc} E_p & \xrightarrow{p_1} & E \\ p_2 \downarrow & & \downarrow p \\ E_{*, 1_B} & \xrightarrow{q} & B \end{array}$$

Clearly the deformation retraction $r: E_{*, 1_B} \rightarrow *$ can be lifted to the deformation retraction $\tilde{r}: E_p \rightarrow F$. Hence the above diagram is homotopy equivalent to the following one:

$$\begin{array}{ccc} F & \xrightarrow{i} & E \\ \downarrow & & \downarrow p \\ * & \longrightarrow & B. \end{array}$$

These considerations reveal that ρ and σ are homotopically equivalent to $\chi_1: E \cup CE_p \rightarrow C_q$ and $\chi_2: C_{p_2} \rightarrow C_p$ respectively. Since p and q are n - and m -connected respectively, it follows from 1.3 that $p \oplus q$, χ_1 and χ_2 are $(m+n+1)$ connected. This proves 1.5.

Finally, we consider the commutative diagram

$$\begin{array}{ccc} X & \xrightarrow{h} & A \\ k \downarrow & & \downarrow f \\ B & \xrightarrow{g} & Y \end{array}$$

which leads to the diagram

$$\begin{array}{ccccccc}
 A \vee B & \xrightarrow{e} & C_{h,k} & \longrightarrow & C_e & \longrightarrow & SX = C_{h,k}/(A \vee B) \\
 \parallel & & \downarrow \xi & & \downarrow \chi' & \nearrow w & \\
 A \vee B & \xrightarrow{\{f,g\}} & Y & \longrightarrow & C_{\{f,g\}} & & \\
 \downarrow & & \downarrow & & & & \\
 C(A \vee B) & \xrightarrow{\chi''} & C_\xi & & & &
 \end{array}$$

where e denotes the natural injection, $\{f, g\}$ is the map determined by f and g , χ' and χ'' are the maps defined in such a way that all the squares are commutative and w is given by

$$w(x, t) = \begin{cases} (h(x), 2t) & \text{for } 0 \leq 2t \leq 1 \\ (k(x), 2-2t) & \text{for } 1 \leq 2t \leq 2. \end{cases}$$

Note that the triangle in the right corner is homotopy-commutative.

Lemma 1.6. *With the above notation, the cofibre C_w of w is of the same homotopy type as C_ξ , i.e., $T\begin{pmatrix} h & f \\ k & g \end{pmatrix}$.*

This follows from 1.2, by observing that $C(A \vee B)$ is contractible and the map $C_e \rightarrow SX$ is a homotopy equivalence.

2. Certain cofibres

In this section we examine the cofibre of a map which admits a right inverse. The verification of lemmas is straightforward and is left to the reader.

Lemma 2.1. *Let the composite $Y \xrightarrow{g} X \xrightarrow{f} Y$ be the identity map of Y . Then*

(i) *the maps*

$$\Phi: SX \rightarrow C_f \vee SY \quad \text{and} \quad \Psi: C_f \vee SY \rightarrow SX,$$

given by

$$\Phi(x, t) = \begin{cases} (x, 3t) & \text{for } 0 \leq 3t \leq 1 \\ (gf(x), 2-3t) & \text{for } 1 \leq 3t \leq 2 \\ (f(x), 3t-2) & \text{for } 2 \leq 3t \leq 3 \end{cases}$$

$$\Psi(y, t) = (g(y), t), \quad \Psi(x, t) = (x, t), \quad \Psi(y) = *,$$

are mutually inverse homotopy equivalences with the homotopy commutative diagram

$$\begin{array}{ccccc}
 & & SX & & \\
 & \nearrow & \uparrow & \searrow & \\
 C_f & & \Phi & & Sf \\
 & \searrow & \downarrow & \nearrow & \\
 & & C_f \vee SY & & SY
 \end{array}$$

(ii) the maps

$$F: C_f \rightarrow SC_g \quad \text{and} \quad G: SC_g \rightarrow C_f$$

given by

$$\begin{aligned} F(x, s) &= (x, s), \quad F(y) = * \\ G(x, s) &= \begin{cases} (x, 2s) & \text{for } 0 \leq 2s \leq 1 \\ (gf(x), 2-2s) & \text{for } 1 \leq 2s \leq 2 \end{cases} \\ G(y, t; s) &= \begin{cases} (g(y), 2st) & \text{for } 0 \leq 2s \leq 1 \\ (g(y), 2t-2st) & \text{for } 1 \leq 2s \leq 2 \end{cases} \end{aligned}$$

are mutually inverse homotopy equivalences.

Lemma 2.2. Let $p: A \times B \rightarrow B$ denote the projection on the second factor and let $\Theta: C_p \rightarrow SA \vee A*B$ be defined by

$$\begin{aligned} \Theta(a, b; t) &= \begin{cases} (a, 3t) & \text{for } 0 \leq 3t \leq 1 \\ (3t-1)a \oplus (2-3t)* & \text{for } 1 \leq 3t \leq 2 \\ (3-3t)a \oplus (3t-2)b & \text{for } 2 \leq 3t \leq 3 \end{cases} \\ \Theta(b) &= b = 0* \oplus 1b \end{aligned}$$

where $(1-s)a \oplus sb$ denotes the point of $A*B$ represented by $(a, b, s) \in A \times B \times I$. Then Θ is a homotopy equivalence with inverse $T: SA \vee A*B \rightarrow C_p$ given by

$$T(a, t) = (a, *, t), \quad T((1-t)a \oplus tb) = (a, b; t).$$

REMARK. Lemma 2.2 can also be proved by observing that, in the weak pushout diagram

$$\begin{array}{ccccc} A \times B & \xrightarrow{p} & B & \longrightarrow & C_p \\ \downarrow & & \downarrow & & \downarrow \chi \\ A & \xrightarrow{i} & A*B & \longrightarrow & C_i, \end{array}$$

χ is a homotopy equivalence (cf. Lemma 1.2' of [12]) and i is null-homotopic, hence C_i is homotopy-equivalent to $SA \vee A*B$.

Corollary 2.3. The Thom space of the trivial n -dimensional real vector bundle over X is homotopy-equivalent to $S^n \vee S^n X$.

3. Homology of group extensions

In this section we try to generalize an exact sequence due to T. Ganea (Theorem 1.1 of [7]) to an arbitrary extension of groups.

Consider an exact sequence

$$1 \rightarrow N \xrightarrow{\hat{i}} G \xrightarrow{\hat{p}} Q \rightarrow 1 \quad (1)$$

of groups which operate trivially on an abelian group A and the additive group of integers. We shall identify N with its image $i(N)$ in G . Since N is normal in G , each element $g \in G$ determines an automorphism of N , as $n \rightarrow gng^{-1}$, $n \in N$. Let

$$N \widetilde{\times} G$$

denote the *semi-direct product* of N and G with respect to this operation of G on N .

We see that the mappings

$$\hat{p}_2: N \widetilde{\times} G \rightarrow G \quad \text{and} \quad \hat{p}_1: N \widetilde{\times} G \rightarrow G,$$

which are given by

$$\hat{p}_2(n, g) = ng, \quad \hat{p}_1(n, g) = g,$$

are homomorphisms. We have $\hat{p}_{2*}: H_2(N \widetilde{\times} G) \rightarrow H_2(G)$ and $\hat{p}_{1*}: H_2(N \widetilde{\times} G) \rightarrow H_2(G)$, and \hat{p}_{2*} induces

$$\text{Ker } \hat{p}_{1*} \rightarrow H_2(G)$$

which we denote also by \hat{p}_{2*} .

Theorem 3.1. *The sequence*

$$\text{Ker } \hat{p}_{1*} \xrightarrow{\hat{p}_{2*}} H_2(G) \xrightarrow{\hat{p}_*} H_2(Q) \rightarrow N/[N, G] \rightarrow H_1(G) \xrightarrow{\hat{p}_*} H_1(Q) \rightarrow 0$$

is exact, where $[N, G]$ is the normal subgroup of N generated by the elements $ngn^{-1}g^{-1}$, $n \in N$, $g \in G$.

Proof. Take a Hurewicz fibration $p: E \rightarrow B$ between aspherical spaces which induces $\hat{p}: \pi_1(E) \cong G \rightarrow \pi_1(B) \cong Q$, and let $i: F \rightarrow E$ denote the fiber inclusion. Then F is aspherical and i induces $\hat{i}: \pi_1(F) \cong N \rightarrow G$.

Let K denote the pullback of p by \hat{p} , that is, $K = \{(e, e') \mid p(e) = \hat{p}(e')\}$, with projections $p_1, p_2: K \rightarrow E$. We form the Puppe sequence for p_1 and p to obtain the commutative ladder:

$$\begin{array}{ccccccc} K & \xrightarrow{p_1} & E & \longrightarrow & C_{p_1} & \xrightarrow{r} & SK & \xrightarrow{Sp_1} & SE \\ p_2 \downarrow & & \downarrow p & & \downarrow \chi & & \downarrow Sp_2 & \searrow Sp & \downarrow Sp \\ E & \xrightarrow{p} & B & \longrightarrow & C_p & \longrightarrow & SE & \longrightarrow & SB \end{array} \quad (2)$$

where χ is induced by the commutative square in the left corner and r denotes the map shrinking E to a point. Since p is 1-connected, it follows from 1.3 that χ is 3-connected.

We shall show that K is an aspherical space such that $\pi_1(K)$ is isomorphic

to the semi-direct product $N \rtimes G$. Take $\kappa \in \pi_1(K)$ and let κ_k denote $p_{k*}(\kappa) \in \pi_1(E)$, $k = 1, 2$. Since $p_*(\kappa_1) = p_*(\kappa_2)$, there exists a unique $\nu \in \pi_1(F)$ with $i_*(\nu) = \kappa_2 \kappa_1^{-1}$. Define

$$\varphi: \pi_1(K) \rightarrow N \rtimes G$$

by $\varphi(\kappa) = (\nu, \kappa_1)$, which is easily seen to be a homomorphism. Let us consider the diagram of homotopy groups induced from the diagram (2). Then $\pi_2(B) = 0$ implies $\text{Ker } p_{1*} \cap \text{Ker } p_{2*} = \{1\}$ and hence φ is monic. Suppose given an element $(n, g) \in N \rtimes G$. Clearly we have $p_*(i_*(n)g) = p_*(g)$, so the homotopy lifting property assures the existence of an element $\kappa \in \pi_1(K)$ such that $p_{1*}(\kappa) = g$ and $p_{2*}(\kappa) = i_*(n)g$. This proves that φ is epic.

We show next that $H_2(C_p) \cong H_2(C_{p_1})$ is isomorphic to $N/[N, G]$. Let M be the mapping cylinder of p_1 and consider the Hurewicz homomorphism

$$h: \pi_2(M, K) \rightarrow H_2(M, K) \cong H_2(C_{p_1}).$$

According to the Hurewicz theorem (see [15, p. 397]), h is epic with kernel generated by the elements $\omega \cdot \tau - \tau$, $\omega \in \pi_1(K)$, $\tau \in \pi_2(M, K)$. Since the boundary operator $\partial: \pi_2(M, K) \rightarrow \pi_1(K)$ induces an isomorphism $\pi_2(M, K) \cong \text{Ker } [\pi_1(K) \rightarrow \pi_1(E)]$ we obtain $\pi_2(M, K) \cong \pi_1(F)$. These facts lead to the conclusion that $\partial(\text{Ker } h)$ is the subgroup of $\pi_1(K)$ generated by $\partial(\omega \cdot \tau - \tau) = \omega \partial(\tau) \omega^{-1} \partial(\tau)^{-1}$. Now let us write $\omega = (n, g)$ and $\partial(\tau) = (\nu, 1)$; then a simple calculation shows that $\omega \partial(\tau) \omega^{-1} \partial(\tau)^{-1} = (ng\nu g^{-1}n^{-1}\nu^{-1}, 1)$, from which we see that $\text{Ker } h$ coincides with $[N, G]$.

Finally, consider the following commutative diagram

$$\begin{array}{ccccc} H_3(C_{p_1}) & \xrightarrow{r_*} & H_2(K) & \xrightarrow{\hat{p}_{1*}} & H_2(E) \\ \downarrow \chi_* & & \downarrow \hat{p}_{2*} & & \downarrow \hat{p}_* \\ H_3(C_p) & \longrightarrow & H_2(E) & \longrightarrow & H_2(B) \end{array}$$

As shown at the beginning of the proof, χ_* is epic, hence the image of $H_3(C_p) \rightarrow H_2(E)$ coincides with $\text{Im } (p_{2*} r_*) = p_{2*}(\text{Ker } p_{1*})$. This concludes the proof of 3.1.

REMARK. We can infer from 2.1, (i) that, in 3.1, $\text{Ker } \hat{p}_{1*} \xrightarrow{\hat{p}_{2*}} H_2(G)$ may be replaced by $\text{Coker } s_* \xrightarrow{\hat{p}_{2*} - \hat{p}_{1*}} H_2(G)$, where $s: G \rightarrow N \rtimes G$ is given by $s(g) = (1, g)$.

Corollary 3.2. *The sequence*

$$\begin{aligned} \text{Coker } \hat{p}_{1*} &\xleftarrow{\hat{p}_{2*}} H^2(G, A) \xleftarrow{\hat{p}_*} H^2(Q, A) \leftarrow \text{Hom}(N/[N, G], A) \\ &\leftarrow H^1(G, A) \xleftarrow{\hat{p}_*} H^1(Q, A) \leftarrow 0 \end{aligned}$$

is exact. If $\hat{p}_*: H_3(G) \rightarrow H_3(Q)$ is epic, then there is an exact sequence

$$H_1(N) \otimes H_1(N) \rightarrow \text{Ker } \hat{p}_{1*} \xrightarrow{\hat{p}_{2*}} H_2(G) \rightarrow \dots \rightarrow H_1(Q) \rightarrow 0.$$

The second assertion follows by noting that one has a 4-connected map $S(F * F) \rightarrow C_x$ by 1.1, 1.2 and 1.5

Let $\iota: N \rightarrow N \widetilde{\times} G$ denote the homomorphism defined by $\iota(n) = (n, 1)$. The following theorem is an extension of Theorem 2.1 in [7] to an arbitrary extension.

Theorem 3.3. *There exist homomorphisms*

$$\rho: H_2(N) \oplus H_1(N) \otimes H_1(N) \rightarrow \text{Ker } \hat{p}_{1*} \cap H_2(N \widetilde{\times} G)$$

and

$$\sigma: \text{Coker } \hat{p}_1^* \rightarrow H^2(N, A) \oplus \text{Hom}(H_1(N) \otimes H_1(N), A)$$

which make the following sequences exact:

$$\begin{aligned} H_3(Q) &\rightarrow \text{Coker } \rho \rightarrow H_2(G) / i_* H_2(N) \rightarrow H_2(Q) \rightarrow N/[N, G] \\ &\rightarrow H_1(G) \rightarrow H_1(Q) \rightarrow 0, \\ 0 &\rightarrow H^1(Q, A) \rightarrow H^1(G, A) \rightarrow \text{Hom}(N/[N, G], A) \rightarrow H^2(Q, A) \\ &\rightarrow H^2(G, A) \cap \text{Ker } i^* \rightarrow \text{Ker } \sigma \rightarrow H^3(Q, A), \end{aligned}$$

where $\rho|_{H_2(N)} = \iota_*$ and the first component of σ is induced by ι^* .

Proof. Let $\pi_k: F \times F \rightarrow F$ denote the projection onto the k th factor ($k=1, 2$) and let $T_0: SF \vee F * F \rightarrow C_{\pi_1}$ denote the homotopy equivalence given by $T_0(x, t) = (*, x; t)$, $T_0((1-t)x \oplus tx') = (x, x'; 1-t)$ (see 2.2). We shall refer to the diagram

$$\begin{array}{ccccccc} & & & & SF \vee F * F & & \\ & & & & \downarrow T_0 & \searrow \{Si_2, -Q\} & \\ & & & & C_{\pi_1} & \xrightarrow{\chi_0} & S(F \times F) \\ & \nearrow \{i, i\} & F \times F & \xrightarrow{\pi_1} & F & \xrightarrow{i} & C_{\pi_1} \\ & \downarrow p_1 & \downarrow \pi_2 & \downarrow i & \downarrow \hat{\varepsilon} & \downarrow \chi_0 & \downarrow S\{i, i\} \\ K & \xrightarrow{p_1} & E & \xrightarrow{p_1} & C_{p_1} & \xrightarrow{r} & SK \\ \downarrow p_2 & \downarrow i & \downarrow p & \downarrow \hat{p} & \downarrow \chi & \downarrow \varepsilon & \downarrow Si \\ E & \xrightarrow{p} & B & \xrightarrow{p} & C_p & \xrightarrow{\varepsilon} & SE \xrightarrow{\quad} SB \end{array}$$

where ε , $\hat{\varepsilon}$ and χ_0 are induced by the left-corner commutative cube, $i_2: F \rightarrow F \times F$ is the injection into the second factor, and $Q: F * F \rightarrow S(F \times F)$ denotes the quotient map.

Now the Puppe sequences resulting from the fibrations p and $p|F$ yield the following exact sequences

$$\begin{aligned} H_j(B) &\rightarrow \text{Coker } \varepsilon_* \rightarrow \text{Coker } (Si)_* \rightarrow H_j(SB) \\ H^j(SB) &\rightarrow \text{Ker } (Si)^* \rightarrow \text{Ker } \varepsilon^* \rightarrow H^j(B). \end{aligned}$$

Next we show that $\text{Coker } \varepsilon_*$ and $\text{Ker } \varepsilon^*$ have the more comprehensive expression in case $j=3$ as follows.

First we observe by 1.1 and 1.2 that C_x and C_{x_0} are homeomorphic to the cofibres of the fibrations $p \oplus p: C_{p_1, p_2} \rightarrow B$ and $C_{\pi_1, \pi_2} \rightarrow *$ respectively. Here applying 1.5 to these fibrations we see that the map $S(F * F) \rightarrow C_x$ is 4-connected and the map $S(F * F) \rightarrow C_{x_0}$ gives a homotopy equivalence. Thus we obtain the commutative diagram:

$$\begin{array}{ccccccc} H_3(F * F) & \longrightarrow & H_3(C_{\pi_1}) & \longrightarrow & H_3(SF) & \longrightarrow & 0 \\ \parallel & & \downarrow \hat{\varepsilon}_* & & \downarrow \varepsilon_* & & \\ H_3(F * F) & \longrightarrow & H_3(C_{p_1}) & \longrightarrow & H_3(C_p) & \longrightarrow & 0 \end{array}$$

where rows are exact. This implies the isomorphisms

$$\text{Coker } \varepsilon_* \cong \text{Coker } \hat{\varepsilon}_* \quad \text{and} \quad \text{Ker } \varepsilon^* \cong \text{Ker } \hat{\varepsilon}^*.$$

Secondly we observe that r_* is monic, since p_1 has a cross-section. Therefore we have $\text{Coker } \hat{\varepsilon}_* \cong r_*(\text{Coker } \hat{\varepsilon}_*)$. We know that T_0 is a homotopy equivalence and therefore we reach the conclusion:

$$r_*(\text{Coker } \hat{\varepsilon}_*) \cong \text{Ker } (Sp_1)_* / \text{Im } (S\{i, i\}_* \{Si_2, -Q\}_*).$$

Taking $S\{i, i\}_* \{Si_2, -Q\}_*$ as ρ , we have the required result.

Corollary 3.4. *If $\hat{p}_*: H_3(G) \rightarrow H_3(Q)$ is epic, then there is an exact sequence*

$$\begin{aligned} H_2(N) + H_1(N) \otimes H_1(N) &\xrightarrow{\rho} \text{Ker } \hat{p}_* \cap H_2(N \times G) \rightarrow H_2(G) / i_* H_2(N) \rightarrow \\ \dots &\rightarrow H_1(Q) \rightarrow 0. \end{aligned}$$

If $\hat{p}^: H^3(Q, A) \rightarrow H^3(G, A)$ is monic, then there is an exact sequence*

$$\begin{aligned} 0 &\rightarrow H^1(Q, A) \rightarrow \dots \rightarrow H^2(G, A) \cap \text{Ker } \hat{i}^* \rightarrow \text{Coker } \hat{p}_1^* \rightarrow \\ &H^2(N, A) + \text{Hom } (H_1(N) \otimes H_1(N), A). \end{aligned}$$

This follows from 3.3 by observing that $H_3(B) \rightarrow \text{Coker } \varepsilon_*$ and $\text{Ker } \varepsilon^* \rightarrow H^3(B; A)$ are trivial.

We shall next construct an exact sequence which is slightly “larger” than the previous ones. For this purpose consider the Puppe sequence for $\{p, p\}: E \vee E \rightarrow B$

$$E \vee E \xrightarrow{\{\hat{p}, \hat{p}\}} B \rightarrow C_{\{\hat{p}, \hat{p}\}} \rightarrow SE \vee SE \rightarrow SB \rightarrow \dots$$

The map $w: SK \rightarrow C_{\{\hat{p}, \hat{p}\}}$ is 3-connected from 1.6 and 1.3. Therefore we obtain the following result.

Theorem 3.5. *There is an exact sequence*

$$\begin{aligned} H_2(N \times G) \xrightarrow{\{\hat{p}_1^*, -\hat{p}_2^*\}} H_2(G) + H_2(G) \xrightarrow{\hat{p}_* + \hat{p}_*} H_2(Q) \rightarrow H_1(N \times G) \\ \xrightarrow{\{\hat{p}_1^*, -\hat{p}_2^*\}} H_1(G) + H_1(G) \rightarrow H_1(Q) \rightarrow 0. \end{aligned}$$

Corollary 3.6. *If $\hat{p}_*: H_3(G) \rightarrow H_3(Q)$ is epic, then there is an exact sequence*

$$H_1(N) \otimes H_1(N) \rightarrow H_2(N \times G) \rightarrow H_2(G) + H_2(G) \rightarrow \dots \rightarrow H_1(Q) \rightarrow 0.$$

If $H_3(Q)$ is free abelian, then there is a unnatural homomorphism $H_3(Q) + H_1(N) \otimes H_1(N) \rightarrow H_2(N \times G)$ which makes the sequence

$$H_3(Q) + H_1(N) \otimes H_1(N) \rightarrow H_2(N \times G) \rightarrow H_2(G) + H_2(G) \rightarrow \dots \rightarrow H_1(Q) \rightarrow 0$$

exact.

The first exact sequence can be derived from the preceding Puppe sequence by combining the fact that $S(F * F) \rightarrow C_\xi$ is 4-connected owing to 1.5 and that C_w and C_ξ have the same homotopy type by 1.6.

In order to prove the second one, we consider the following commutative diagram (cf. Lemma 1.6)

$$\begin{array}{ccccc} H_3(F * F) & \xlongequal{\quad} & H_3(F * F) & & \\ \downarrow & & \downarrow & & \\ H_3(\tilde{E} \oplus E) & \longrightarrow & H_3(SK) & & \\ \downarrow (p \oplus p)_* & & \downarrow w_* & & \\ H_3(B) & \longrightarrow & H_3(C_{\{\hat{p}, \hat{p}\}}) & \longrightarrow & H_3(SE) \oplus H_3(SE) \longrightarrow \dots \\ \downarrow & & \downarrow & & \\ 0 & & 0 & & \end{array}$$

where the row and columns are exact. Since the left column splits, we obtain an exact sequence

$$H_3(B) \oplus H_3(F * F) \rightarrow H_2(K) \rightarrow H_2(E) \oplus H_2(E) \rightarrow H_2(B) \rightarrow \dots$$

which concludes the proof.

From now on assume that (1) is a central extension. It follows from the proof of 3.1 that φ is an isomorphism of $\pi_1(K)$ onto the direct product $N \times G$.

This is realized by a homotopy equivalence $\bar{\varphi}: K \rightarrow F \times E$ such that $\bar{\varphi} = (\tau, p_1)$ for a map $\tau: K \rightarrow F$ with $\tau_*(\kappa) = \nu$. Let $\bar{\psi}: F \times E \rightarrow K$ denote a homotopy inverse of $\bar{\varphi}$ and let $q: F \times E \rightarrow E$ be the projection. Since p_1 is a fibration, we see from $q \simeq q\bar{\varphi}\bar{\psi} = p_1\bar{\psi}$ that there exists a map $\psi: F \times E \rightarrow K$ such that $\psi \simeq \bar{\psi}$ and $p_1\psi = q$. Put

$$\mu = p_2\psi: F \times E \rightarrow E.$$

Then (2) can be replaced by the following commutative ladder:

$$\begin{array}{ccccccc} & & SF \vee F * E & & & & \\ & & \uparrow T \quad \downarrow \Theta & & & & \\ F \times E & \xrightarrow{q} & E & \longrightarrow & C_q & \longrightarrow & S(F \times E) \xrightarrow{Sq} SE \longrightarrow \dots \\ \downarrow \mu & & \downarrow p & & \downarrow \Delta & & \downarrow S\mu \\ E & \xrightarrow{p} & B & \longrightarrow & C_p & \xrightarrow{\partial} & SE \xrightarrow{Sp} SB \longrightarrow \dots \end{array} \quad (3)$$

in which Δ is a 3-connected map induced by $pq = p\mu$ and T and Θ are homotopy equivalences as given in 2.2. Hence we have an exact sequence

$$H_3(SF) \oplus H_3(F * E) \xrightarrow{\partial_* \Delta_* T_*} H_2(E) \rightarrow H_2(B) \rightarrow \dots$$

Since $p\mu(1 \times i) = pq(1 \times i) = *$, there is a map

$$\mu_0: F \times F \rightarrow F$$

with $\mu(1 \times i) \simeq i\mu_0$, which induces an H structure compatible with the group structure of N . Thus we obtain a homotopy-commutative diagram

$$\begin{array}{ccccc} F * F & \xrightarrow{Q} & S(F \times F) & \xrightarrow{S\mu_0} & SF \\ 1 * i \downarrow & & S(1 \times i) \downarrow & & \downarrow Si \\ F * E & \xrightarrow{Q'} & S(F \times E) & \xrightarrow{S\mu} & SE \end{array}$$

On the other hand, there is an exact sequence

$$H_3(F * F) \xrightarrow{(S\mu_0)_* Q_*} H_3(SF) \rightarrow H_3(N, 2; Z) = 0,$$

which results from the canonical map $SF \rightarrow K(N, 2)$. Thus, in dimension 3,

$$\text{Im}(S\mu)_* Q'_* \supset \text{Im}(Si)_*.$$

Now we see from 2.2 that

$$\partial \Delta T|SF \simeq Si \quad \text{and} \quad \partial \Delta T|F * E = (S\mu)Q'.$$

From these data and the fact that $F * E$ is 2-connected we recover the exact sequences

$$\begin{aligned} N \otimes H_1(G) &\xrightarrow{(S\mu)_* Q'_*} H_2(G) \rightarrow H_2(Q) \rightarrow N \rightarrow H_1(G) \rightarrow H_1(Q) \rightarrow 0, \\ 0 \rightarrow H^1(Q, A) &\rightarrow H^1(G, A) \rightarrow \text{Hom}(N, A) \rightarrow H^2(Q, A) \rightarrow H^2(G, A) \\ &\rightarrow \text{Hom}(N \otimes H_1(G), A) \oplus \text{Ext}(N, A), \end{aligned}$$

which have been obtained by T. Ganea [7, Theorem 1.1].

We can also see that the morphisms ρ and σ in 3.3 are equivalent to

$$1 \oplus (1 * i)_*: H_2(N) \oplus H_3(F * F) \rightarrow H_2(N) \oplus H_3(F * E)$$

and

$$1 \oplus (1 * i)^*: H^2(N, A) \oplus \text{Hom}(N \otimes H_1(G), A) \rightarrow H^2(N, A) \otimes \text{Hom}(N \otimes N, A)$$

respectively. Theorem 3.3 allows us to conclude Theorem 2.1 of T. Ganea [7]: there exist exact sequences

$$\begin{aligned} H_3(Q) \rightarrow N \otimes H_1(Q) \rightarrow H_2(G) / i_* H_2(N) \rightarrow H_2(Q) \rightarrow N \rightarrow H_1(G) \rightarrow H_1(Q) \rightarrow 0 \\ 0 \rightarrow H^1(Q, A) \rightarrow H^1(G, A) \rightarrow \text{Hom}(N, A) \rightarrow H^2(Q, A) \rightarrow \text{Ker } i^* \rightarrow \\ \text{Hom}(N \otimes H_1(Q), A) \rightarrow H^3(Q, A). \end{aligned}$$

4. Monomorphisms

A map $f: X \rightarrow Y$ is called a *monomorphism* if the induced function $f_*: [V, X] \rightarrow [V, Y]$ is injective for every V (see [5], [9, p. 168]). We shall prove

Theorem 4.1. *Let $f: X \rightarrow Y$ be an n -connected monomorphism and let X be a connected space such that $\pi_i(X) = 0$ for $i \geq 2n + 1$ with $n \geq 1$. Then f has a left homotopy inverse.*

Proof. By the assumption, 1.4 implies that the following square is exact:

$$\begin{array}{ccc} & [X, X] & \\ P_1^* \swarrow & & \nwarrow f_* \\ [E_{f,f}, X] & & [Y, X] \\ P_2^* \swarrow & & \nwarrow f_* \\ & [X, X] & \end{array}$$

On the other hand, the definition of $E_{f,f}$ implies $f_*(P_1) = f_*(P_2)$. Hence we have $P_1 \simeq P_2$, since f is a monomorphism. Now the exactness of the diagram proves the existence of a map $g: Y \rightarrow X$ satisfying $1_X = f^*(g)$.

According to T. Ganea [5], the Hopf fibrations

$$h: S^n \rightarrow RP^n \quad \text{and} \quad h: S^{2n+1} \rightarrow CP^n$$

are monomorphisms for odd $n > 1$, and these do not admit left homotopy inverses, as shown by the inspection of cohomology.

Finally, we remark that the condition in 4.1 is indispensable for the conclusion. Consider a map $\theta: K(Z, 2) \rightarrow K(Z, 2m+2)$ which represents the $(m+1)$ -fold cup product ι^{m+1} of the basic class $\iota \in H^2(Z, 2; Z)$ and let

$$K(Z, 2m+1) \xrightarrow{i} E_\theta \xrightarrow{p} K(Z, 2)$$

be the principal fibration induced by θ . Since $\Omega\theta \simeq 0$, we see that i is a monomorphism by Theorem 15.11' of [9]. But it is known that p is the first stage for a Postnikov system of CP^m , so that there is a $(2m+2)$ -connected map $g: CP^m \rightarrow E_\theta$. Thus $H_{2m+1}(E_\theta; Z) = 0$, which shows that i does not admit any left homotopy inverse. Taking $m=1$, the inclusion i provides an example.

5. Thomas exact sequence

Let $p: E \rightarrow B$ be a principal fibration in the restricted sense, as defined in [13], with fibre inclusion $i: F \rightarrow E$ and with action $\mu: F \times E \rightarrow E$. Let K denote the square of p by p with projections $p_1, p_2: K \rightarrow E$, and let $q: F \times E \rightarrow E$ be the projection onto the second factor. Then, by Lemma 2.1 of [13], $\{q, \mu\}: F \times E \rightarrow K$ is a homotopy equivalence making the diagram

$$\begin{array}{ccccc} & & & E & \\ & q & \nearrow & & \searrow p \\ F \times E & \xrightarrow{\{q, \mu\}} & K & & B \\ & \mu & \searrow p_2 & & \nearrow p \\ & & E & & \end{array}$$

commutative. Hence, Theorem 1.3 implies that, if p is n -connected, $n \geq 1$, then the sequence

$$[F \times E, V] \xleftarrow[\mu^*]{q^*} [E, V] \xleftarrow{p^*} [B, V]$$

is exact for a connected space V with $\pi_i(V) = 0$ for $i \geq 2n+1$, that is, $\mu^*(x) = q^*(x)$ for $x \in [E, V]$ if and only if there is a $y \in [B, V]$ such that $x = p^*(y)$.

Henceforth we assume that p is n -connected, $n \geq 1$. Then one has the commutative ladder (3) with Δ being $(2n+1)$ -connected.

Let $i_2: E \rightarrow F \times E$ denote the inclusion. In virtue of Lemma 2.1 (ii), we can replace C_q by SC_{i_2} and the mutually inverse homotopy equivalences

$$C_q \xrightleftharpoons[G]{F} SC_{i_2}$$

are given by

$$\begin{aligned} F(x, y; t) &= (x, y; t), F(y) = * && \text{for } x \in F, y \in E, 0 \leq t \leq 1 \\ G(x, y; s) &= \begin{cases} (x, y; 2s) & \text{for } 0 \leq 2s \leq 1 \\ (*, y; 2-2s) & \text{for } 1 \leq 2s \leq 2 \end{cases} \\ G(y, t; s) &= \begin{cases} (*, y; 2st) & \text{for } 0 \leq 2s \leq 1 \\ (*, y; 2t-2st) & \text{for } 1 \leq 2s \leq 2. \end{cases} \end{aligned}$$

It follows from these expressions that the diagram

$$\begin{array}{ccc} S(F \times E) & \longrightarrow & SC_{i_2} \\ \downarrow (S\mu) - (Sq) & & \downarrow G \\ & & C_q \\ & \swarrow \partial & \downarrow \Delta \\ SE & \longleftarrow & C_p \end{array}$$

is commutative.

Let

$$J(\mu): F * E \rightarrow SE$$

denote the map obtained from μ by the Hopf construction, i.e. the composite $F * E \rightarrow S(F \times E) \xrightarrow{S\mu} SE$. Then the composite $\partial \Delta T$ in (3) is homotopic to Si on SF and $J(\mu)$ on $F * E$.

Summarizing the above discussion we have

Theorem 5.1. *The following sequences are exact for a connected space V with $\pi_k(V) = 0$ for $k \geq 2n+1$:*

$$\begin{aligned} [F \times E, V] &\xleftarrow[q^*]{\mu^*} [E, V] \xleftarrow{p^*} [B, V] \leftarrow [SC_{i_2}, V] \leftarrow [SE, V] \xrightarrow{(Sp)^*} \dots \\ [F \times E, V] &\xleftarrow[q^*]{\mu^*} [E, V] \xleftarrow{p^*} [B, V] \leftarrow [SF, V] \oplus [F * E, V] \\ &\xleftarrow{\{(Si)^*, J(\mu)^*\}} [SE, V] \leftarrow \dots \end{aligned}$$

The first sequence is an extension of an exact sequence due to E. Thomas [19].

6. Duality

6.1. It seems difficult to define the dual of the Whitney join in an effective way. However we can define the homotopy analogue of the dual of the Whitney join as shown in [12] in the following way.

Let us given a pushout diagram

$$\begin{array}{ccc} X & \xrightarrow{f} & A \\ g \downarrow & & \downarrow i_1 \\ B & \xrightarrow{i_2} & L \end{array}$$

where f and g are cofibrations. Then the dual of the Whitney join

$$f \hat{\oplus} g: X \rightarrow E_{i_1, i_2}$$

is defined by $[(f \hat{\oplus} g)(x)](t) = x$ for $x \in X$, $0 \leq t \leq 1$. Note that, if we denote by T' the fibre of $E_f \rightarrow E_{i_2}$, $\pi_n(T')$ is isomorphic to the homotopy group $\pi_{n+2}(L; A, B)$ of a triad $(L; A, B)$.

Now, given a system of maps $A \xleftarrow{f} X \xrightarrow{g} B$, let

$$I_1: A \rightarrow C_{f,g} \quad \text{and} \quad I_2: B \rightarrow C_{f,g}$$

denote the canonical injections. Then the homotopy-commutative diagram

$$\begin{array}{ccc} X & \xrightarrow{f} & A \\ g \downarrow & & \downarrow I_1 \\ B & \xrightarrow{I_2} & C_{f,g} \end{array}$$

is homotopically equivalent to the pushout

$$\begin{array}{ccc} X & \xrightarrow{i} & M_f \\ j \downarrow & & \downarrow i_1 \\ M_g & \xrightarrow{i_2} & C_{f,g} \end{array}$$

of two injections into mapping cylinders M_f and M_g . Now we consider the map $\hat{\xi}: X \rightarrow E_{I_1, I_2}$ defined by $\hat{\xi}(x) = (f(x), \hat{x}, g(x))$, where \hat{x} denotes the path given by $\hat{x}(t) = (x, t)$. Clearly $\hat{\xi}$ is homotopically equivalent to $i \hat{\oplus} j$.

Now, applying a theorem of Blakers-Massey to the triad $(C_{f,g}; M_f, M_g)$, we can prove the following theorem in the similar manner as in 1.3 and 1.4 (cf. [12, Theorem 4.3]).

Theorem 6.1. *Suppose f and g are m - and n -connected respectively, $m \geq 1$, $n \geq 1$, $m+n \geq 3$, and let X be 1-connected. Then $\hat{\xi}: X \rightarrow E_{I_1, I_2}$ is $(m+n-1)$ -connected and the diagram*

$$\begin{array}{ccccc} & & [V, A] & & \\ f_* \nearrow & & \searrow I_{1*} & & \\ [V, X] & & & & [V, C_{f,g}] \\ g_* \searrow & & \nearrow I_{2*} & & \\ & & [V, B] & & \end{array}$$

is exact for a CW complex V with $\dim V \leq m+n-1$. Further, if

$$\chi_1: E_f \rightarrow E_{I_2} \quad \text{and} \quad \chi_2: E_g \rightarrow E_{I_1}$$

denote the maps induced by a canonical homotopy $I_1 f \simeq I_2 g$, then χ_1 and χ_2 are $(m+n-1)$ -connected.

We remark that, as shown in [14], the restrictions on m and n can be removed under appropriate assumption.

6.2. Following [9, p. 168], we say that $f: X \rightarrow Y$ is an *epimorphism* if $f^*: [Y, V] \rightarrow [X, V]$ is injective for every V . The following theorem can be deduced, in a similar way to 4.1, from 6.1.

Theorem 6.2. Suppose $f: X \rightarrow Y$ is an n -connected epimorphism with X 1-connected, $n \geq 2$, and let Y be a CW complex with $\dim Y \leq 2n-1$. Then f has a right homotopy inverse.

The condition of the above theorem cannot be removed with the conclusion unchanged, because the projection $f: S^n \times S^n \rightarrow S^{2n}$ ($n \geq 2$) shrinking $S^n \vee S^n$ to a point is an epimorphism with no right homotopy inverse, as mentioned in [9, p. 181].

6.3. Consider a principal cofibration

$$A \xrightarrow{i} B \xrightarrow{q} C \quad (4)$$

in the restricted sense [13], where C , the cofibre of i , is an H cogroup. Let K denote the pushout of $B \xleftarrow{i} A \xrightarrow{i} B$, i.e. the space formed from $B \vee B$ by identifying $(i(a), *)$ with $(*, i(a))$, $a \in A$, and let $j_k: B \rightarrow K$ ($k=1, 2$) denote the canonical inclusions. There is defined a coaction

$$\mu: B \rightarrow C \vee B$$

such that $\{i_2, \mu\}: K \rightarrow C \vee B$ is a homotopy equivalence where $i_2: B \rightarrow C \vee B$ denotes the injection. Let $r_2: C \vee B \rightarrow B$ be the projection shrinking C to a point.

Henceforth we shall assume that i is n -connected, $n \geq 2$. Then it follows from 6.1 that the sequence

$$[V, A] \xrightarrow{i_*} [V, B] \xrightleftharpoons[i_{2*}]{\mu_*} [V, C \vee B]$$

is exact for a CW complex with $\dim V \leq 2n-1$.

Introduce the commutative ladder

$$\begin{array}{ccccccc}
 \cdots & \longrightarrow & \Omega B & \xrightarrow{\varepsilon} & E_i & \xrightarrow{p} & A \xrightarrow{i} B \\
 & & \Omega\mu \downarrow & & \nabla \downarrow & & i \downarrow \\
 \cdots & \longrightarrow & \Omega(C \vee B) & \longrightarrow & E_{i_2} & \longrightarrow & B \xrightarrow{i_2} C \vee B \\
 & & & & & & \downarrow \mu
 \end{array} \quad (5)$$

in which ∇ is a $(2n-1)$ -connected map induced by the right-hand commutative square. We set

$$\begin{aligned}
 \bar{\mu} &= \nabla_* \varepsilon_*: \pi_k(\Omega B) = \pi_{k+1}(B) \rightarrow \pi_k(E_{i_2}) = \pi_{k+1}(C \vee B, B) \\
 \tau &= p_*(\nabla_*)^{-1}: \pi_k(E_{i_2}) = \pi_{k+1}(C \vee B, B) \rightarrow \pi_k(A)
 \end{aligned}$$

for $k \leq 2n-2$.

With the above notation we can state an exact sequence which is dual to the cohomology exact sequence obtained by E. Thomas as follows:

Theorem 6.3. *The sequence*

$$\begin{aligned}
 \pi_{2n-1}(A) &\xrightarrow{i_*} \pi_{2n-1}(B) \xrightarrow{\bar{\mu}} \pi_{2n-1}(C \vee B, B) \xrightarrow{\tau} \pi_{2n-2}(A) \\
 \cdots \rightarrow \pi_k(A) &\xrightarrow{i_*} \pi_k(B) \xrightarrow{\bar{\mu}} \pi_k(C \vee B, B) \xrightarrow{\tau} \pi_{k-1}(A) \rightarrow \cdots
 \end{aligned}$$

is exact with the following additional properties:

(i) For $\alpha \in \pi_r(A)$, $\gamma \in \pi_s(C \vee B, B)$ with $r+s \leq 2n$, $r \geq 1$, $s \geq 1$,

$$\tau[\gamma, i_*\alpha] = -[\tau(\gamma), \alpha]$$

where the bracket in the left-hand side denotes the relative Whitehead product.

(ii) Let $i_1: C \rightarrow (C \vee B, B)$ be the inclusion and let τ_0 denote the homomorphism determined by the composite

$$p_*(q_*)^{-1}: \pi_k(C) \leftarrow \pi_k(B, A) \rightarrow \pi_{k-1}(A).$$

Then, for $\beta \in \pi_k(C) \cap \text{Im } q_*$,

$$\tau(i_{1*}\beta) = \tau_0(\beta) \bmod p_*(\text{Ker } q_*).$$

(iii) $\tau(\beta \circ \partial^{-1}\kappa) = \tau(\beta) \circ \kappa$ for $\kappa \in \pi_{m-1}(S^{k-1})$, $\beta \in \pi_k(C \vee B, B)$, where ∂ is the boundary isomorphism

$$\partial: \pi_m(CS^{k-1}, S^{k-1}) \rightarrow \pi_{m-1}(S^{k-1}).$$

Proof. The exactness follows immediately from (5). Since p_* is the boundary operator, we have, by (3.5) and (3.4) of [3],

$$\nabla_*[\nabla_*^{-1}\gamma, \alpha] = [\nabla_*\nabla_*^{-1}\gamma, i_*\alpha] = [\gamma, i_*\alpha].$$

Hence

$$\begin{aligned}\tau[\gamma, i_*\alpha] &= p_*\nabla_*^{-1}[\gamma, i_*\alpha] = p_*[\nabla_*^{-1}\gamma, \alpha] \\ &= -[p_*\nabla_*^{-1}\gamma, \alpha] = -[\tau\gamma, \alpha].\end{aligned}$$

The second property (ii) is a direct consequence of the following commutative diagram:

$$\begin{array}{ccccc}\pi_k(C) & \xleftarrow{q_*} & \pi_k(B, A) & \xrightarrow{\partial} & \pi_{k-1}(A) \\ & \searrow i_{1*} & \downarrow \nabla_* & & \parallel \\ \pi_k(C) & \xleftarrow{r_{1*}} & \pi_k(C \vee B, B) & \xrightarrow{\tau} & \pi_{k-1}(A)\end{array}$$

where $r_1: C \vee B \rightarrow C$ denotes the projection pinching B to a point and the commutativity follows from $r_1\mu \simeq q$ and $r_1i_1=1$.

The last property (iii) is obvious from the definition of τ .

REMARK. Note that the exact sequence in 6.3 is not exactly dual to the one due to E. Thomas [19], and the precise dual will be the one obtained by replacing E_{i_2} by ΩE_{r_2} , where $r_2: C \vee B \rightarrow B$ is the retraction.

6.4. We consider here a situation as an illustration of Theorem 6.3. First we prove

Lemma 6.4. *Let $i: A \rightarrow B$ be the principal cofibration induced by $\theta: S^{n-1} \rightarrow A$, i.e. $B = C_\theta$ where A is 1-connected and $n \geq 3$. Then*

$$\tau(i_{1*}\iota_n) = \theta \quad \text{for the identity class } \iota_n \in \pi_n(C).$$

Proof. We see from the Blakers-Massey theorem that

$$q_*: \pi_n(B, A) \rightarrow \pi_n(S^n)$$

is bijective. Since the characteristic map $\hat{\theta}: (CS^{n-1}, S^{n-1}) \rightarrow (B, A)$ satisfies $p_*(\hat{\theta}) = \theta$ and $q_*(\hat{\theta}) = \iota_n$, and since i is $(n-1)$ -connected, it follows from (ii) of 6.3 that $\tau(i_{1*}\iota_n) = \theta$.

Theorem 6.5. *Let $i: A \rightarrow B$ be as in Lemma 6.4 and let a relation*

$$\theta \circ \alpha - [\theta, w] = 0, \quad w \in \pi_q(A), \quad \alpha \in \pi_{n+q-2}(S^{n-1})$$

be given, where $1 < q < n-1$. Then there exists an element $\eta \in \pi_{n+q-1}(B)$ such that

$$\mu_*\eta = i_{1*}(S\alpha) + i_{2*}\eta + [i_{1*}\iota_n, i_{2*}i_*w], \quad q_*\eta = S\alpha,$$

where $\mu: B \rightarrow S^n \vee B$ denotes the coaction and i_1 is the inclusion $S^n \rightarrow S^n \vee B$.

REMARK. Taking S^q and m_μ (m : an integer) for A and w , we obtain a result due to I.M. James [10, Lemma (5.4)].

Proof. By (i), (iii) of 6.3 and Lemma 6.4, we have

$$\begin{aligned}\tau[i_{1*}\iota_n, i_*w] &= -[\tau(i_{1*}\iota_n), w] = -[\theta, w] \\ \tau(i_{1*}S\alpha) &= \tau(i_{1*}\iota_n) \circ \alpha = \theta \circ \alpha.\end{aligned}$$

These imply that $i_{1*}S\alpha + [i_{1*}\iota_n, i_*w]$ lies in the kernel of τ and, by the exactness of 6.3, there exists $\eta \in \pi_{n+q-1}(B)$ such that

$$\overline{\mu}(\eta) = i_{1*}S\alpha + [i_{1*}\iota_n, i_*w].$$

Now consider the following commutative diagram

$$\begin{array}{ccccc}\pi_{n+q-1}(B) & \xrightarrow{\varepsilon_*} & \pi_{n+q-1}(B, A) \\ \downarrow \mu_* & & \downarrow \nabla_* \\ \pi_{n+q-1}(B) & \xrightarrow{i_{2*}} \pi_{n+q-1}(S^n \vee B) & \xrightarrow{k_*} \pi_{n+q-1}(S \vee B, B)\end{array}$$

where k denotes the inclusion, which leads to

$$k_*\{\mu_*\eta - i_{1*}S\alpha - [i_{1*}\iota_n, i_{2*}i_*w]\} = 0$$

by (3.10) of [3]. Hence there exists a unique $\hat{\eta} \in \pi_{n+q-1}(B)$ with

$$i_{2*}\hat{\eta} = \mu_*\eta - i_{1*}S\alpha - [i_{1*}\iota_n, i_{2*}i_*w].$$

Moreover, it follows from $r_2\mu \simeq 1$ and $r_1\mu \simeq q$ that $\hat{\eta} = \eta$ and $S\alpha = q_*\eta$.

6.5. Take A and B to be the complex projective spaces $P^m(C)$ and $P^{m+1}(C)$ and let $\theta: S^{2m+1} \rightarrow P^m(C)$ be the Hopf map. Then, by [2],

$$[\theta, w] = \begin{cases} \theta \circ \eta & \text{if } m \text{ is even} \\ 0 & \text{if } m \text{ is odd} \end{cases}$$

for the generator $w \in \pi_2(P^m(C))$ which comes from $\pi_1(S^1)$, where η is the generator of $\pi_{2m+2}(S^{2m+1})$. Thus there is an element $\rho \in \pi_{2m+3}(P^{m+1}(C))$ such that

$$\mu_*\rho = \begin{cases} i_{1*}S\eta + i_{2*}\rho + [i_{1*}\iota_{2m-2}, i_{2*}i_*w] & \text{for } m \text{ even} \\ i_{2*}\rho + [i_{1*}\iota_{2m-2}, i_{2*}i_*w] & \text{for } m \text{ odd} \end{cases}$$

OSAKA UNIVERSITY

References

- [1] G. Allaud: The Join of Fibrations, Mimeographed Notes.
- [2] M.G. Barratt, I.M. James and N. Stein: *Whitehead products and projective spaces*, J. Math. Mech. **9** (1960), 813–819.
- [3] A.L. Blakers and W.S. Massey: *Products in homotopy theory*, Ann. of Math. **58** (1953), 295–324.

- [4] B. Eckmann and U. Stammbach: *Homologie et différentielles. Suites exactes*, C.R. Acad. Sci. Paris **265** (1967), 11–13; *Bases dimensions, cas spéciaux*, ibid. 46–48.
- [5] T. Ganea: *On monomorphisms in homotopy theory*, Topology **6** (1967), 149–152.
- [6] ———: *On the homotopy suspension*, Comment. Math. Helv. **43** (1968), 225–234.
- [7] ———: *Homologie et extensions centrales de groupes*, C.R. Acad. Sci. Paris **266** (1968), 556–558.
- [8] I.M. Hall: *The generalized Whitney sums*, Quart. J. Math. Oxford Ser. (2) **16** (1965), 360–384.
- [9] P.J. Hilton: *Homotopy Theory and Duality*, Nelson, London, 1967.
- [10] I.M. James: *Note on cup-products*, Proc. Amer. Math. Soc. **8** (1957), 374–383.
- [11] M.A. Knus: *Homology and homomorphisms of rings*, J. Algebra **9** (1968), 274–284.
- [12] Y. Nomura: *On extensions of triads*, Nagoya Math. J. **27** (1966), 249–277.
- [13] ———: *Remark on the dual EHP sequence*, Nagoya Math. J. **29** (1967), 296–280.
- [14] E. Spanier: *The homotopy excision theorem*, Michigan Math. J. **14** (1967), 245–255.
- [15] ———: *Algebraic Topology*, McGraw-Hill, New York, 1966.
- [16] J. Stallings: *Homology and central series of groups*, J. Algebra **2** (1965), 170–181.
- [17] U. Stammbach: *Anwendungen der Homologietheorie der Gruppen auf Zentralreihen und auf Invarianten von Präsentierungen*, Math. Z. **94** (1966), 157–177.
- [18] A.S. Svarc: *The genus of a fiber space*, Amer. Math. Soc. Transl. **55** (1966), 49–140.
- [19] E. Thomas: *Postnikov invariants and higher order cohomology operations*, Ann. of Math. **85** (1967), 184–217.

